J

TP1 TP2 TP3 TP4 Digital Inputs:
VCC SWA[LE]: Latch enable
SWA[ 8.. 0]: Delay Line Phase Shifter 1/16, 1/8, 1/4, 1/Z
GNDGNDGNDGND PN1 connector 1, 2, 4, 8, 16 ns
1 SWB[LE]: Latch enable
Newark SWB[ 8.. 0]: Delay Line Phase Shifter 1/16, 1/8, 1/4, 1/Z
10B6044
1, 2, 4, 8, 16 ns
p1 P2 P3 P4 Digital Outputs:
swao 1 [T o Sweo 1[g o SWAQ OU ~ L2 SWB0 OU e ol2 SWA_OUT[LE]: Latch enable
o © (4 ® o ® o A A
SWAL 3 | o o4 SwBl_ 3 |l g o4 SWAL OU o o SWB1 oU o ol SWA_OUT[8.. 0]: Delay Line Phase Shifter 1/16, 1/8, 1/4,
SWA2 5| o o SwB2 5 le o SWA2 OU e & SWB2 OU s & —
SWAs_ 7|9 9 Swes_ 7|9 9 SWA3 0U e o SWB3 OU e o 1/2, 1, 2, 4, 8, 16 ns
A e ol 0 SwB4 e ol 0 SWA4 OU e el 10 | SwB4oOU e ol L SWB_OUT[LE]: Latch enable
A e ol 12 SWB5 e ol 12 SWAS5 OU s o SWB5 OU = X W - H H
A o o7 S o o SWARTOU ° o SWESIOU ° SWB_OUT[8.. 0]: Delay Line Phase Shifter 1/16, 1/8, 1/4,
A7 e ol 16 SWB7 e ol 16 SWA7 OU == SWB7 OU o = 172, 1, 2, 4, 8, 16 ns
SWAE = X SwB8 e o SWA8 OU e o SWB8 OU e o
ALE__19 | o o] 2 BLE 9 | a ol ALE OUT e ol 2 BLE OUT e ol 2
TT® 151 TT® 151 TT® T 51 TT® 151 Analog Outputs:
TTe @ STTe ® o @ STTe @ o A
3 ol 24 3 o | 24 AVCC OUT"23 ol 24 BVCC OUT"23 ol 2 AVCC: 5V on Delay Line Board
Avech—Te o155 Bveck—51® &% 51 1% % 1S $T% A
2 le e Zle e 2 le e 2 le e BVCC: 5V on Delay Line Board
918 526 6324 GND 918 526 6324 GND 918 526 6324 GND 918 526 6324 GND
Analog Inputs:
AVCC_OUT: 5V from Delay Line Board
BVCC_OUT: 5V from Delay Line Board
H1 Handle, 3" PN2 Front Panel PN10 Banana jack
[ [ [
H2 Handle, 3" LIGO Newark
[ D1100578-v1 39F1574
Mouser PN3 Rear Panel PN11 Banana jack
534-9109
H3 Ferrule LIGO Newark D23 EtherCAT_DLTestRig4.SchDoc D32 EtherCAT_DL TestRig4.SchDoc D1 EtherCAT_DLTestRig2.SchDoc D11 EtherCAT_DLTestRig2.SchDoc
D1100579-v1 39F1575 SWAO0 OUT b SWB0 OUT o SWAO b SWB0 b
H4 Ferrule PN4 DB25 cable
[ [ ] D24 EtherCAT_DLTestRig4.SchDoc D33 EtherCAT_DLTestRig4.SchDoc D2 EtherCAT DLTestRig2.SchDoc D12 EtherCAT DLTestRig2.SchDoc
H5 Ferrule Newark SWA1 OUT b SWB1 OUT b SWAL b SWB1 b
[ o05me812 PN12  Jack screw
H6 Ferrule PN5 DB25 cable D25 EtherCAT DLTestRig4.SchDoc D34 EtherCAT DL TestRig4.SchDoc D3 EtherCAT DL TestRig2.SchDoc D13 EtherCAT DL TestRig2.SchDoc
[ PN13__ Jack screw SWA2 OUT b SWB2 OUT SWA2 b SwWB2 b
Mouser Newark
534-9121 05M6817 PN14 Jack screw D26 EtherCAT DLTestRig4.SchDoc D35 EtherCAT DL TestRig4.SchDoc D4 EtherCAT DL TestRig2.SchDoc D14 EtherCAT DLTestRig2.SchDoc
M1 #6-32 3/8" flat PN6 IDC header SWA3 OUT SWB3 OUT SWA3 D SWB3
[ [ PN15 Jack screw
M2 #6-32 3/8" flat PN7 IDC header [ D27 EtherCAT_DLTestRig4.SchDoc D36 EtherCAT_DLTestRig4.SchDoc D5 EtherCAT_DLTestRig2.SchDoc D15 EtherCAT DLTestRig2.SchDoc
[ [ Newark SWA4 OUT SWB4 OUT SWA4 D SwB4
M3 #6-323/8"flat  PN8 IDC header ~ 80K5431
[ D28 EtherCAT_DLTestRig4.SchDoc D37 EtherCAT_DLTestRig4.SchDoc D6 EtherCAT_DLTestRig2.SchDoc D16 EtherCAT_DLTestRig2.SchDoc
M4 #6-32 3/8" flat PN9 IDC head‘ﬂ SWAS5 OUT SWB5 OUT SWAS SWBS
[
McMaster-Carr Newark D29 EtherCAT_DLTestRig4.SchDoc D38 EtherCAT_DLTestRig4.SchDoc D7 EtherCAT_DLTestRig2.SchDoc D17 EtherCAT_DLTestRig2.SchDoc
91099A215 73K6217 SWA6 OUT SWB6_OUT SWAB SWB6
M5 M4-8mm, flat H7 Standoff M-F H19 Standoff F-F
D30 EtherCAT_DLTestRig4.SchDoc D39 EtherCAT_DLTestRig4.SchDoc D8 EtherCAT_DLTestRig2.SchDoc D18 EtherCAT_DLTestRig2.SchDoc
M6 M4-8mm, flat H8 Standoff M-F H20 Standoff F-F SWAT7 OUT SWB7 OUT SWA7 SWBT7

M7 M4-8mm, flat H9 Standoff M-F H21 Standoff F-F D31 EtherCAT_DLTestRig4.SchDoc D40 EtherCAT_DL TestRig4.SchDoc D9 EtherCAT_DLTestRig2.SchDoc D19 EtherCAT_DLTestRig2.SchDoc
SWA8 OUT D SWB8 OUT D SWA8 D SWB8 D
M8 M4-8mm, flat H10  Standoff M-F H22 Standoff F-F

D10 EtherCAT DLTestRig2.SchDoc D20 EtherCAT DL TestRig2.SchDoc
M9 M4-8mm, flat H11  Standoff M-F H23 Standoff F-F ALE E D BLE E D
D41 EtherCAT_DLTestRig4.SchDoc D42 EtherCAT_DLTestRig4.SchDoc
M10  M4-8mm, flat H12  Standoff M-F H24 Standoff F-F ALE OUT BLE OUT

M1l  M4-8mm, flat H13  Standoff M-F Newark D43 EtherCAT_DLTestRig2.SchDoc D44 EtherCAT_DLTestRig2.SchDoc D21 EtherCAT_DLTestRig3.SchDoc D22 EtherCAT_DLTestRig3.SchDoc
56K3039 AvVCC D BvCC D
M12  M4-8mm, flat H14  Standoff M-F
M13  M4-8mm, flat H15  Standoff M-F AVCC OUT 2 BVCC OUT 2
M14  M4-8mm, flat H16  Standoff M-F G2 Ga Title .
EtherCAT - Delay Line Tester

M15  M4-8mm, flat H17  Standoff M-F

Size Number Revision
MI6__M4-8mm, flat ~ HI8 _Standoff M-F 3 D1100472
McMeaster-Carr Newark Date: 4/1/2011 | Sheet 10f 4
91420A218 56K3066 File: Ci\Users\.\EtherCAT_DLTestRigl.SchDdcDrawn By: F. Clara

) 2 3 4 5 ‘ 6




2 3 4
vee
PN
LED lens cap VY
DS
VCC
TQP R1 o
10K D
|<_>FDV301N
|_
Ul o
GND
Title g
EtherCAT - Delay Line Tester
Size Number Revision
A D1100472
Date: 4/1/2011 | Sheet 20f 4
File: C:\Users\..\EtherCAT_DL TestRig2.SchDgcDrawn By: F. Clara

3

4




TP
down___© GND
up
S
R1
10K
VCC

Title
EtherCAT - Delay Line Tester
Size Number Revision
A D1100472
Date: 4/1/2011 | Sheet 30f 4
File: C:\Users\..\EtherCAT_DL TestRig3.SchDgcDrawn By: F. Clara

3

4




Title
EtherCAT - Delay Line Tester
Size Number Revision
A D1100472
Date: 4/1/2011 | Sheet 30f 4
File: C:\Users\..\EtherCAT_DL TestRig4.SchDgcDrawn By: F Clara

3

4




